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QUESTION 1

Scenario: A network engineer has modified the configuration of a content-switching virtual server, Website_main,
because a second content-switching server that is capable of handling more connections has been added to the
NetScaler 

implementation. Both servers will remain in operation. 

The engineer made the following configuration changes: 

>set cs vserver Website_main -lbvserver New_Server -backupVserver Old_Server -redirectURL http://
www.mydomain.com/maintenance -soMethod Connection -soThreshold 1000 

Why did the engineer enable the spillover option? 

A. To handle incoming connections in case the new server is unavailable 

B. To handle the extra connections using the old server without dropping them 

C. To redirect the extra connections to the Maintenance website when it is needed 

D. To handle incoming connections while the server reaches its limit of connections 

Correct Answer: B 

 

QUESTION 2

Scenario: A NetScaler engineer configured a service and server for RADIUS authentication. To ensure that the RADIUS
service is available and responding to authentication requests, the engineer has added the NetScaler built-in monitor to 

the service. On inspecting the RADIUS service the engineer notices it is marked as DOWN. 

What could be causing this issue? 

A. The built-in monitor has been changed. 

B. RADIUS accounting must be enabled under the server. 

C. There is no built-in monitor available to monitor RADIUS. 

D. The NetScaler-owned IP address has not been added to the RADIUS database. 

Correct Answer: D 

 

QUESTION 3

Scenario: A NetScaler environment uses two-factor authentication and the second authentication method is AD. A user
logs in to the environment but does NOT receive access to the resources that the user should have access to. 

How can an engineer determine the AD authentication issue on the NetScaler? 
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A. Check NSlogs. 

B. Use nsconmsg. 

C. Use the cat aaad.debug command. 

D. Check the authorization configuration. 

Correct Answer: C 

 

QUESTION 4

An engineer is checking that ports are configured correctly between the NetScaler system and a back-end web server.
Which command should the engineer use to test that the web server is responding on port 80? 

A. telnet webA.example.com 80 

B. telnet webA.example.com:80 

C. telnet webA.example.com port=80 

D. telnet webA.example.com -port 80 

Correct Answer: A 

 

QUESTION 5

Scenario: A network engineer gets an error message when using the configuration utility to import a PKCS#12
certificate that contains a dollar sign ($), a backquote (`), or an escape (\) character password. In order to address this
error, the network engineer could prefix it with __________. (Choose the correct option to complete the sentence.) 

A. an escape character (\) 

B. a backquote character (`) 

C. a dollar sign character ($) 

D. a double quotation character (") 

Correct Answer: A 
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